TH2EE JEAZRIEKEF (NMHC) FMHfE

- 6~9BF | o _ops OFF~OFF  |6H%~0BF3mERA T 14 | 6B ~ OB BRI T4y

- B | ETE| 28145 )% B & 3] T 3 fiE fE/%0.20ppmCZ 2 | fEHY0.31ppmCE iR

’ FFHfE E=(E | 2EE |ABRETDEE(ZA-BHETDEE
B ] ppmC ppmC H ppmC ppmC H % H %
24— | 8690 0.07 0.07 363 0.22 0.01 3 08 0 0
(£35S 8696 0.05 0.05 365 0.33 0.01 4 1.1 1 0.3
RE 8690 0.08 0.10 363 0.4 0.01 23 6.3 5 1.4
E 3 8692 0.08 0.09 365 0.4 0.02 12 3.3 4 1.1

SH2FEE A4 (CH4) FERE

6~ 9BF 6 ~ OB

g [P ET | Sa1s | A2 | ommTiE
? FF 118 BSiE | SEE
R ppmC ppmGC H ppmC ppmGC
23— 8690 1.98 1.99 363 2.18 1.85
V38 8696 1.95 1.96 365 2.3 1.79
FHE 8690 1.97 1.98 363 2.29 1.83
IE8;]| 8692 1.99 2 365 2.3 1.85

SH2EE £m1b/KkE (THC) ERE

6~98 | ¢ on 655 ~ 98
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¥ FE ppmC ppmC = ppmC ppmC
24— | 8690 2.06 2.06 363 2.36 1.91
E35 8696 2 2.01 365 2.63 1.86
FIE 8690 2.05 2.08 363 2.67 1.93
E 51 8692 2.06 2.09 365 2.52 1.96




